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(1) (Wo]) = 6x8xsin4d5°
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(2) (deol) = 3 X 12x16 sin(180° — 120°)
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- BC = 40 x 0.5592 = 22.368 (cm)




oh& 1R} o ik gafshs et

S Atol] A&7} 21 m o], Hjo| A % “’H} g
Se] H7)E viEr 2 Zhe] 27171 -21m -

15° o] e, S| Eol=?

@ tanl5°m <@>21tan15°m ® sinl5°m
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tan 15° = 2—)“1 o]B & x = 21 tan15°m ©|T}.
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D 48v6 @ 485 @48«5 @ 482
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(AABC) = L oaxs V3 x sin 30°
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= —X24Xx8V3xX =
5 X 24X \/_><2
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2} ot Sule HARREA B AYZ D m
Aol Q=A] Fatolat. (T, sin48° = 0.7431 , cos 48° = 0.6691 )
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x = 200sin48° = 200 x 0.7431 = 148.62(m)
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B\
A B C
1253 200 V3
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AB =100 tan 30°
=100 x \/% = 1_20 V3
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=3 )
AC = 100 tan60° = 100 V3
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AABC 9] Ho|& § 2} 5tH
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5 80 4 3
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@SO@CHP ® 160 cm?®

Z& 7 9] EolE 4 tan60° = 4 V3(cm)
whaba] 28 HA o] Hoj=
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@ 200m @ 200 (1+ V2)m
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® 200(1+ «/E)m

~&B

BH = 200(m), DH = 200(m)

CH = tan 60° x DH
= V3 x 200 = 200 V3(m)
-.BC =BH+ CH
=200 + 200 V3
=200 (1+ V3) (m)
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DA60°
45° H[\
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19. Eol7k Aol 2m WolH el A 4
e et 2 7ho] 3717} 510, Yo
2 7k 717k 36° ATk o] AE A
9] ol & Fotoet, (H, tan51° = 1.2,
tan 36° = 0.7)
| = m
> HE: 38m

BC =2tan51° =2 x 1.2 = 2.4 (m)
CD = 2tan36° = 2x 0.7 = 1.4 (m)
- BD=BC+CD =24+ 1.4 =3.8(m)




20. o 3-T 22 AABC 9 Wol7b 7v3em? & o, LA ] 377
(F, 0° < £A <90°)

@ 30° @ 45° ® 50° @60° ® 65°

%x4x7><sinA:7\/§
V3

Sin B

wakA] 24 = 60° o]t




